How does the graph of g(

The amplitude is smaller, and the period is longer. P

: o
The amplitucre aller, and the period is shorter.
\

=2

The amplitude is larger, and the period is shorter.

The amplitude is larger, and the period is longer.

log x*+ 2 = log(3x - 2)
log(3x + 2) = log (3x - 2)

log6x = log (3x

log (2x3) = log 3"! )

ogx + Iog 2=

The graph of y = ax” is shifted up 3 units and right 5 units. Which equatigp '
Rresents the resulting graph?

y=a(x-57°+3
y=alx+52%+3
y=a(x-3)7+5

yv=alx+3) +5

log Sxeog 2?







What about this one?
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\V1+tan?C

and | know it.







Scavenger Hunt

© Partners or Trios!
© Find the answer to each question
- Spell the secret message

What  do Yo call a man

afFter he "\G\S \Oeu\ at
Hee beach all SJW\W\CY?

atancent [



Make a new page in your journal!!

5.4 Solvina Tria Equati

Example 1: ;. \H 7/: o ek
X Solve
-)Cof'a
Sind = - |
Sin @ 9
/
Q’IO =0 o(

'n’

f

\‘6






Sxample 3: Q4ang -2 = O Y
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L tanb= 2D
fan = ¥ tane = | %
X
it Y
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Unit 6 Summary
© Complete your unit 6 concept map
© Key thing: memorize those ID's!






